CEMI Message Format

common external message interface
cEMI messages are used for IP tunneling

Al =
additional
info length

message
code

v v

source” dest.
control field address address
1and 2 1.1.213 0/1/40

data
length

TPCI

APCI/
data

data

29 00

BC EO 11 D5 | 01

4 4

29 = L_DATA.ind
2E = L_DATA.con
11 = L_DATA.req

v

if > 0, Add.Info comes
next, after byte 2

extended frame : 0 «
standard frame : 1

reserved

repeat in case of error : 0 <

do not repeat : 1

system broadcast : 0 «

broadcast : 1

message samples:

CF = BC EO when receiving messages from bus via IP-interface

]

28

03

00

80

19 | Oe

8C

1011 1100 1110 0000
1000 1100 1110 OOOO

|—> ext frame format
= standard frame

routmg, hop count

0 individual address
: group address

L. O:noerror (Confirm)
1: error L_DATA.con

L, 0:no ACK requested
1 : ACK requested
> priority
0 : system
1 : normal
2 : urgent
3: low

CF = 8C EO when sending data to bus via IP-interface

data bytes, w/o
TPCI/APCI bits

01

00

81

data ="1"

* when sending set source address 0000, the
IP-router fills its own address in here

data = EIS5
=20.64 °C




FT1.2 Message Format

decoding a message example:
received busmon message

EIB EIB EIB
message Control  source dest. NPCI TPCI APCI/ check
FT1.2 code time field  address address data  sum FT1.2 FT1.2
Control stamp 1.1.204 12/0/0 check end
field status sum field
FT1.2 Header | | | |
. - ! Vo I v vy v/ |
68 Oe 0Oe 68 f3 2B 01 E8 7C BC| 11/ CC| 60 00| E1 00 80 OF 7C | 16
1 1
] d3 | 9C 81
2B = L_BUSMON.ind [T—
14 bytes length —
(incl. Control field) ‘
68 = FT1.2 Header ID (Obj)ValueWrite
TPCI=00xxxx00
1111 0011 1011 1100 APCI=10DDDDDD
1101 0011 1001 1100
L 1 L1
3 = Send_UDAT ‘ priority=low 1110 0001
¢ FC\{ FCB ="1"t fl In this case:
oggle repeat flag _ Data=0/1
primary message primary message Length=1—
BAU to PC BAU to PC Routing=6
Dest.Addr.Field

REMARKS
- since this is a busmon message, it contains also status and time stamp

— 1=group addr
O=phys addr
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FT1.2 Message Format

decoding a message example:
this is a message sent to a BCU

FT1.2
Control
field
FT1.2 Header |

68 O0a Oa 68 |73

0 1 2 3 4

10 bytes length
(incl. Control field)

REMARKS

EIB
message source dest. APCl/
code EIB address address NPCI TPCI - data
Control 1.1.255 10/3/0
field
11/ 0C 11 FF 53 00 E1 00 81
> 13

11 = L_DATA.req

- the BCU takes the EIB message, adds checksum and transmit the message over the EIB

- the FT1.2 checksum is the LSB of sum of bytes 4 to 13

- the phys. source address of 1.1.255 does not matter, the BCU will replace this with its own phys. address

Data Value =1

FT1.2 FT1.2
check end
sum field
55 | 16
14 15
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